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What do you understand by Cost of Capital ? Explain the significance
of Cost of Capital.
Explain the Cost of Equity Capital and Debt Capital with suitable
llustrations.

OR

You are required to determine the Weighted Average Cost of Capital
(WACC) of Raj Ld. using (i) book value weights and(ii) market value
weights. :

The following information is available for your persual;

Raj Ltd's present book value capital structure is;

Debentures (Rs. 100 per debenture) Rs. 800000
Preference Shares (Rs. 100 per share) Rs. 200000
Equity shares (Rs. 10 per share) Rs. 1000000

_ Rs. 2000000 .
All these securities are traded in the capital markets. Recent prices
are; Debentures at Rs. 110, Preference shares at Rs. 120 and Equity
shares at Rs. 22.
Anticipated external financing opportunities are :
Rs. 100 per Debenture, redeemable at par, 20 years maturity, 8%
interest rate, 4% floatation costs, sales price Rs. 100
Rs. 100 per Preference share, redeemable at par, 15 years maturity,
10% dividend rate, 5% floatation costs, sales price Rs. 100
Equity shares : Rs. 2 per share floatation costs, sales price Rs. 22.
In addition, the dividend expected on the equity shares at the end of
the year is Rs. 2 per share, the anticipated growth rate in dividends is
5% and the company has the practice of paying all its earning in the
form of dividends. The corporate tax rate is 50%. :

While preparing a project report on behalf of a client, you have
collected the following facts. Estimate the net working capital
required for that project. Add 10% to your computed figure to allow
contingencies.
Estimated cost per unit of production is:
Raw material : Rs. 80
Direct labour : Rs. 30
Overheads (exclusive of depreciation) Rs. 60

Rs. 170
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Additional information :

Selling price : Rs. 200 per unit
Level of activity : 104000 units of production per annum
Raw material in stock :  Average 4 weeks

Work in progress (assume 50% completion stage): Average 2 weeks
Finished goods in stock:  Average 4 weeks
Credit allowed by suppliers : Average 4 weeks
Credit allowed to debtors: Average 8 weeks
Lag in payment of wages : Average 1% weeks
Cash at bank is expected to be Rs. 25000

You may asume that production is carried on evenly throughout
the year (52 weeks) and wages and overheads accrue similarly. All
sales are on credit basis only.

Discuss the sources of working capital.

OR

Explain the various concepts of working capital and discus the
factors determining working capital requirements.

Prepare a Cash Budget for three months ending 31st July, 2017 from
the following information of Shreyan Limited.

Cash balance as on 1st May, 2017 is Rs. 80000

Other information:

Months Sales | Purchases | Wages | Overheads
(Rs.) (Rs.) (Rs.) (Rs.)
March 2017 | 150000 80000 52000 40000
Aprit 2017 160000 90000 56000 50000
May 2017 180000 100000 48000 60000
June 2017 | 200000 110000 64000 70000
July 2017 220000 120000 72000 80000
Assume 10% of the total sales to be cash sales and 20% of total
purchases to be cash purchases.

50% of credit sales are realised in the month foilowing the sales and
remaining 50% in the second month following the sales.

A machine of Rs. 120000 is purcased, is due for delivery in June,
2017, 10% down payment is payable against dehvery and the
balance after three months.

Interest and dividend on investments Rs. 20000 may be received in
June, 2017,

An old machine is to be sold for Rs. 60000 in July, 2017.

Overheads include Rs. 10000 depreciation on fixed assets per
month, -

Period of credit allowed by suppliers is cne month.

The time lag in the payment of wages is 1/4 month and the time lag

in the payment of overhead is 1/2 month.
OR
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Write notes on:

Credit Policy Variables
Types of [nventory
ABC Analysis

What do you understand by Optimum Capitai Structure ? Explain the
features of an ideal capital structure.

The following data relate to Khushi Limited.

Sales : Rs. 800000
Operating expenses:

Variable (30%) Rs. 240000
Fixed ' Rs. 400000
Interest on borrowings Rs. 20000

Using the concept of operating leverage, by what percentage will
operating profit increase, if there is a 10% increase in sales ?

Using the concept of financial leverage, by what percentage will
taxable profit increase, if operating profit increase by 10% ?

Using the concept of combined leverage, by what percentage will
taxable profit increase, if sales increase by 10% ?

OR

The Capital structure of Anand Ltd is as follows ;

Equity Share Capital (Rs. 10 each) Rs. 1500000
10% Preference Share Capital (Rs. 10 each) Rs. 500000
12% Debenture (Rs. 10 each) Rs. 500000

At present, Earnings Before Interest and Tax (EBIT) is Rs. 800000
and tax rate is 40%.

The company intends to raise additional Rs. 1500000 for expansion
purpose, for which the company has the following alternatives.

. (i)  Entire amount to be raised only through Equity Share Capital

(i) Equity Share Capital and 10% Preference Share Capital in the
ratio of 2:1 respectively.

(i) Equity Share Capital, 10% Preference Share Capital and 12%

Debentures in the ratio of 1:1:1 respectively.

Due to expansion, the operating profit (EBIT) will increase by 50%.

On the basis of Earning Per Share, suggest the best alterhatives.

State the merits and limitations of trading on equity.
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